—"zr%ﬁ’ C‘g)'tl%@‘foloac 1% E‘&T Q63

g iR Fai 2018
BOOKLET No. )
S— F11 A 9%
RARANER ,
U | : UK T¥A : 100
A : 2 () a9 . THW T : 200
et

1

@

3
4

®)

(6

M

T Egiered 100 Afiar 9 odq. SAganH el I frfevare geam swargdt M sy w9
¥ R4 foan Arédia aht welt 6 vaeft. ore qAT o FT AN esedE E TIAYIRIET FHa g

IS qge .
soe vl wn e S T
T ey st Rz, mm’ a Yz IF

T BT TG Fieh gAeAT Iubhat fafire arft soafiale gEawm 3 ety g .
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1. I I anfn qidt 11 arsan 9 Sigen Jesan ST A waig fae

0 S I I
. udHe I OIS R gelee
9. iwafsertard I <hrgx
%. Faimien gam I, % A&
3. wEe™ | IV. %sfa {ega
Tata 30
a T w 4
(n 1II III I v
@ IV I 101 S
(3) III v II |
4 I 111 v 1I

Match List I with List IT and select the correét answer from theJ options given :
List1 List II
a. Erdkunde I.  Alexander von Humboldt

b.  Anthropo-Geographie II. Jean Brunhes

c.  Geografia Humana ITII. Carl Ritter
d. Cosmos IV. Friedrich Ratzel
Answer Options:
a b c d
(1) II I11 I v
(2 IV II III I
(3) II 1AY II I
4 1 - I IV II
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F11 4 A
2. Ea fumm aoa qow aeiedsd) S e e o o ot

fayr 37 : gedt 24 qEME 360° t@E .

farrr ‘F ;e g e gedten 9 fifterEn weedt auar,

(1) faum ‘o anfor 97 gt st e

(2) fawm ‘o sftr T St < e

(3) Toum ‘o U I faum 9 5@ ame

(4) ﬁw‘#%a@ﬁm%’aﬂwaﬂ%'

Examine the following statements and identify the correct statement/s :

Statement ‘A’ : Within 24 hours the Earth rotates in 360° longitudes.

Statement ‘B’ : The Earth requires four minutes to cross the one degree longitude.

(1) Statements ‘A’ and ‘B’ are correct

(2) Statements ‘A’ and ‘B’ are incorrect

(3) Statement ‘A’ is correct but statement ‘B’ is incorrect

(4) Statement ‘A’ is incorrect but statement ‘B’ is correct

3. Wil HIvd 3YET Y-3arq hrar uiem 7787 2
(1) %
(2) e ged
(3) srafirse vdd

(4) @

Which of the following relief features is rot an effect of internal forces of the Earth ?
(1) Graben

(2) Horst

(3) Residual Mountain

(4) Rift Valley

Foed] SHATS! TN /| SPACE FOR ROUGH WORK
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(1) SMEawmwg YR faet wig af wrR wig
(2) dfte regT Wik et wig afin wg s wieel g
(3) 3RS oHeRl Wik afts TRt T frereg afi g
(4) fa=twp 3ifere w1 T 45 s % fay g

Select the proper option from the following figures of ‘Relief Features’ created by
volcanic eruption :

a - b c d

(1) Acid Lava Cone Mixed Cone Cinder Cone Basic Lava Cone
(2) Basic Lava Cone Cinder Cone Mixed Cone Acid Lava Cone
(3) Acid Lava Cone Basic Lava Cone Cinder Cone Mixed Cone

(4) Cinder Cone . Acid Lava Cone Basic Lava Cone  Mixed Cone

TR FHIS! ST / SPACE FOR ROUGH WORK ‘ P.T.O.

e




-F11 6 A

5. TagagamNmm gamhe avm=n adE S A e .
(1) enh TR, sl AR, e
(2) = AR, sl ar, g AR
(3) = AR, e AR, o
(4) -yd TR, ofrE R, = an
Find out the correct sequence of planetary winds found from the equator to pole.
(1) Westerlies, Trade winds, Polar winds |
(2) Trade winds, Westerlies, Polar winds
(3) Trade winds, Polar winds, Westerlies
(4) Polar winds, Westerlies, Trade winds

6. @l g1 U sga. @l (A1) ? Fum oy (T) ® O FRO IR @iefia etear wutith
qr gy e,
ey (37) ;. fayegeia wewmed armsh s I,
FRO (7). Tagggda ww @ afy weamE, sweeTid ot oY aTEal @ Afdred

sEen AR, -

(1) (31) Ffr () R v g () # () 2 T warsdiertwr TR
@ (31) afr () = v o () } () 2 Foras et T
(3) () T I (V) FEA TR
(4) () 3@ T () HA IR | ,
Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R). Select your answer from the following options.
Assertion (A) : Oceanic salinity is low in the equatorial region.

Reason (R):  Equatorial region is characterized by heavy rainfall, cloudiness and
humidity. ‘

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false

(4) (A)is false but (R} is true

7. GrAteas Hiva e faerems R 378t ?

(1) gl (2) v (SATefiRem)
(3) watre R (FEATA) (4) & fem
Which of the following is not a type of chemical weathering ?

(1) Solution {2} Oxidation

(3) Carbonation (4) Corrosion

/O] HTHTATS AR | SPACE FOR ROUGH WORK
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wreieish! g fumA e :
T3’ ; fafirse arauFrER Sufash STTHRARAT 69 39ee AT YHI RO o
N gl ANE S §M. '
e a A Py oW T e aeREE o g SH 91 9T wikh
T oneTen fafire e wevaTa.
(1) Fraw or af @ O T amRE
(2) fauw o e ¥ S8 9% ma
(3) faum ‘or st ow o @ 9% oM
(4) Taam o7 9% omgg fm = st oM

Identify the correct statement/s from the following :

Statement ‘A’: The weight of water vapour per unit volume of air in specific
temperature is called relative humidity.

Statement ‘B’ : Specific humidity is the ratio of air water vapour content to its
water vapour capacity at a given temperature.

(1) Statements ‘A’ and ‘B’ both are correct

(2) Statements ‘A’ and ‘B’ both are incorrect

(3) Statement ‘A’ is correct but statement ‘B’ is incorrect
(4) Statement ‘A’ is incorrect but statement ‘B’ is correct

Greftash! 3 fagA AieEr _
e (37) ;: AR ST VEATRY] THHHIE 9 AGITH TABadS HHIGT Sad.
FRO (T) : WK TIFE TOAH AT TROMHTORE % 3.

(1) (1) F (X) S TR 31ga T (T) B (1) 3 IH R M7
(2) (1) 9 (V) A T 3nga WG (T) B () 2 IIgH T g
(3) () @ FU AR WG (V) 3 TH IR
(4) (31) 3 I R g (1) 3 T 3R

Identify the correct statement/s from the following :

Assertion (A) : The isotherm lines remain almost parallel to one another and parallel
to latitudes on oceanic surfaces.

Reason (R): Temperatures at maritime locations are free from effect of elevation.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A}

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false

(4) (A is false but (R) is true

FoenT HHFTATSE TR / SPACE FOR ROUGH WORK : P.T.O.
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10. Geha faummn fer w67 fmgs vl fas .

3, < fowmht e AR v € IHd), T AW WoT X 99N AT,
4. I IOEHREHE FrH qvamed s Refa sl .

®. I T 9IS WHR SETEAT THOTIY WIsETel S @ SN .
T, WRAWE! Adia WEEH gt AEE gErven Aft qEarEt .
gt 3=

(1) fam = sl & g s

(2)
(3)
(4

oy &1 o &% w@cw ARa
fau 5, & anfor € g e
R A1, 9 01 * g AR

Consider the following statements and select the correct option from the following :

a.
b.
c.
d.

Most of the fishing grounds occur in areas where the continental shelf is wide.
Fishing activity is well developed in warm tropical waters.
Mixing of warm and cold currents brings plant nutrients for fish.

Inland fisheries are more significant than other types in India.

Answer Options:

(1)
(2)
(3)
(@

Statements a and b are correct
Statements a and ¢ are correct
Statements b, ¢ and d are correct

Statements a, b and ¢ are correct

11, feoieoinme dseenw@a_ Edl.

(1)
(2}
(3)
(4)

IS I MM w7 Aven
< i A &g e
g T 0T S T
arEe qr Afor arsg wven

~ In developing countries the population pyramid has a

(1)
(2)
(3)
(4)

Narrow base and wide top
Wide base and wide top
Wide base and narrow top

Narrow base and narrow top
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Tt fauHE gerar quman snfo 9 gaiE e

fgr ‘3 VIRETSN SHIE Y9 ST MeuTa ST FTE T i memeta A
v ‘F ;. waran ghdier fram gar 7500 foR . Yan f& Iwa omR.

(1) T ‘o onfer ¥ St Wl R

@ fam o it 9 e 9% o

(3) foum ‘& e gy fum 9% o

(@) Taum ‘& 9o g fam @ wle s

Examine the following statements and select the correct option :

Statemnent ‘A’: Some land area of India is situated in the northern hemisphere and
some in the southern hemisphere. ‘

~ Statement ‘B’: The extension of India from north to south is approximately more

- than 7500 km.
(1) Statements ‘A’ and ‘B’ both are correct
(2) Statements ‘A’ and ‘B’ both are incorrect
(3) Statement ‘A’ is correct but statement ‘B’ is incorrect

(4) Statement ‘A’ is incorrect but statement ‘B’ is correct

13.

wrelier faurr=h gogar quman it A gafg feer .

e ‘. fewmredi T @ femeEren s U a e e wr s AgEt R
Yo% HET.

fym X . EddR T TRy et g geE=mT awa.
() foum ‘o7 anftn 9 e Sy MR

(2 foum & anfn 9 A 3% s

(3) faum ‘o wew g foum 9 g% IR

(4) fum o7 9% I RAvm ¥ W IR

Examine the following statements and select the correct option. :

Statement ‘A’: Himalayan rivers cross many Himalayan ranges and the Shivalik
Hills and enter into the plain area.

Statement ‘B’: Peninsular rivers flow through the rift valleys created by faults.‘
(1) Statements ‘A’ and ‘B’ both are correct

(2) Statements ‘A’ and ‘B’ both are incorrect

(3) Statement ‘A’ is correct but statement ‘B’ is incorrect

(4) Statement ‘A’ is incorrect but statement ‘B’ is correct

YT HTAAIS! ST / SPACE FOR ROUGH WORK P.T.O.
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14. o=wew nfor Solaoren Y29 € s Afired ama 2
(1) rad 99
(2) IIfiER i
(3 iy =iz
(4) 3o v

The rain fed and rain shadow areas are the characteristics of
(1) Cyclonic rainfall |
(2) Convectional rainfall

(3) Orographic rainfall

(4) Thermal rainfall

15. Wrelid df¥ed siven yewrE g ?
3. SelaEgHa! I9E AR
q. RS 39T Had A
%,  WEHKERE AR FEal
S,  WeHEE ARNE FEal
qatdt I
(1) Io-vwdr gt vew
(2) g et wew
(8) foramadf wawm
(4) femmerin ww

Which region has the following characteristics ?
a Useful for water transport -
b. Production of coconut is taken up

Favourable for fishing

o

d.  Attraction for tourists
Answer Options:

(1) North-India Plain Region
(2) Peninsular Plateau

(3) Coastal Plains

(4) Himalayan Region

FPeqT HTIIS! SIAT / SPACE FOR ROUGH WORK
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16. UNEP = frmmmmt @efie sgys ST =rean qredi=an e oo :

Jqv HTeJH
A ARG ATHEE L 3
. Ydfoem g I =
#.  FANES III. &
g TReEEd IV. @< it
ot S
A | &, 3
@ I 11 m v
2 v II1 II I
3 m . 1 - v I
@ m 1 11 v
Match the following Pollutants and their Mediums as per the UNEP documents :
Pollutant Medium
a. Nitrogen oxides L Sea
b. Petroleum hydrocarbons II. Food
c¢.  Fluorides III.  Air
d. Mycotoxins IV. Fresh water
Answer Options :
a b c d
1 I 11 IIT v
2 Iv 111 II I
(3) 11 I v I
(4) III I 1 v

17. ©g TPl HEEHS @refiedh wivar am Jmfis ofen Rew g Fas Fon o ?

(1) 13 : (2) 553

(3) 1¥<= (4) 16 9<W

Which of the following days is designated as World Ozone Day by the U.N. General
Assembly ?

(1) 15 June (2) 5% June

(3) 15t September : (4) 16% September

FEEqT BTHTHIS! AN / SPACE FOR ROUGH WORK P.T.O.
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18. @it Fivrar gfewe I 8t A Pfifa ong 2

(1) s (2) A SFATTES
(8) gH HawTSe (4) FARHRLHE
Which of the following greenhouse gases is entirely produced by human activities ?
(1) Methane (2) Carbon dioxide
'(3) Nitrous oxide (4) Chlorofluorocarbons
19. 39 Al 9 SgEmiE THHIES T R fieEer Sl
1) A (2) FH-U
(3) THIA (4) FHI-TEY
The transitional area between two living organisms is known as
- (1) Ecozone (2) Ecophos
(3) Ecotone (4) Ecotype

20, @il Hoen v oD i T wge a2
A, 8000 I§TUTEA BV SRS
], T it rfaer g AT
%. 5000 IfaEe gend GrEvactt wrawd
3. i wifd
i I
(1) wHE
(2) o & T ®
(3) SHT, FANS
(4) Tl a9

The impact of humans on global climate has been induced by which of the following ?

a. Deforestation since 8000 years

b.  Use of fire and overgrazing

¢. Wet paddy cultivation since 5000 years
d. Industrial revolution

Answer Options:

(1) Onlyd

(2) Onlycandd
(3) Onlyb,candd
(4) All of the above
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A
21, TE YEEiS ANFEhRE Jdeiet S el dedieng Frar gw wm A 787 ?
A, TSTHaT (hfE) - 4. e (shwe)
%, POR (9. 9) . 3. WA (FRGE)
it I ;
(1) o A M 2 wHF
(3) wHS (4) ad o ofor 3
At which of the following places was an iron and steel factory not started during the
Second Five Year Plan ?
a. Rourkela (Orissa) b. Bhilai (Chhattisgarh)
c.  Durgapur (West Bengal) d. Boekaro (Jharkhand)
Answer Options : |
(1) Onlyaandb (2) Onlyc
(3) Onlyd (4) Onlyaandd
22, fhwraRE FROE SRR LA HIVAT Heh FES~= g1 ?
w1, friwEe [ EeEl
%, vafFflda ag : 3. gD
it 3w '
(1) a1 T 4 (2) wHE G AT
(3) N3 (4) SR H
Which of the following is/are not the supply-side factor/s responsible for inflation ?
a. Increase in export b. Store
¢. Increase in credit creation d. Famine
Answer Options : ,
(1) Onlyaandb ~ (2) Onlycandd
(3) Onlyd (4) Onlyec
23. YS! IVl TeH QIRGuRTE SRR :na'? ?
A AR U TEid 9%
C . 39 w9 § WisawWndt
it 3w
(1) % A T 5 (2) wFd H, $ AM T
(3) wEITAMNS (4) &« oMo &
Which of the following factors are not responsible for poverty ?
a. Inflation b. Increase in Government expenditure
¢. Deficit Financing ' d. Short savings and Capital formation
Answer Options : ,
(1) Onlyaandc ' (2) Onlya,candd
(3) Onlybandd (4) Onlybandc

Foe] P! AT / SPACE FOR ROUGH WORK P.T.O.
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24. wmmwmmmmm el 999 g
el Siver TR Ja ?
(1) Fog afg (2) ®mg i
(3) 0 I (4) ah TR
“Absence of minimum income to get the minimum needs of life” is concerned with
which of the following types of poverty ?
(1) Absolute poverty (2) Relative poverty
(3) Both the above (4) None of the above
25. 379 G HEIE, 2013 =0 Tt Ttk a fum/faum fae
A B HE T5% T F 50% TR AIFHAH I G AN 9T FE Al
g, St o .66, T 3 v aige, v.f6. T 2y SRR = 9 w.Re. T 1w
g IeTS BV AR,
vt 3w ; _
(1) E A o § /R (2) QFE A AT § g
(3) W& 3 T (4) e 9 S
Identify the correct statement/s in context of the Food Security Act, 2013.
a. It gives legal entitlement of food security to 75% rural and 50% urban
population.
b. A beneficiary will be entitled rice, coarse cereals and wheat @ ¥ 3, ¥ 2 and
¥ 1 per kg per month respectively.
Answer Options :
(1) Both a and b are correct (2) Both a and b are incorrect
(3) Only ais correct (4) Only b is correct
26. R ST argaTel, 2011 TR U 0T dehaeta fhd) @k aid eae AR ?
(1) 165 &% (2) 173 T * (3) 17-5 T (4) 17-7 TF*
What is the percentage of Indian population in the population of the world according
to the Indian Census Report, 2011 ?
(1) 16:5 percent (2) 17-3 percent (3) 17-5percent (4) 17-7 percent
27. AR HE ARG GETER uidd 7eee fawm fere 9@ 21 o€ 3 foae e

7 18 ¥ fifvea wwam o 2

(1) T Hrepaen 9w, 1976 (2) TS diekaEn G, 1977

(3) TN diwEE Ui, 2000 (4) rmEEan fasay (2001 - 2026)
Which of the following population policies decided the minimum marriage age
as 21 years for males and 18 years for females ?

(1) National Population Policy, 1976 (2) National Population Policy, 1977

(3) National Population Policy, 2000  (4) Population Projections (2001 — 2026)

Foeq] HEITS! ST / SPACE FOR ROUGH WORK
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WIRA FTHR Jeierieh! o hidshn ‘arTfors QU a1 eIH g6 Hal 3R 2
9. TN @R e e

- %, UK g S8R SEE

ot I :

(1) o 3 T § (2) %Fd & MU F
(3) wHF | | (4) == wd

Which of the following programmes is/are started by the Government of India for the
purpose of ‘Sacial Security’ ? .

a. Aam Aadmi Bima Yojana

b. Rashtriya Swasthya Bima'Yojana

c.  National Social Assistance Programme

Answer Options :

(1) Onlyaandb (2) Onlybandc
(3) Onlyc {4) All of the above

29,

Fha T IS (GNI) Tt Geied! HIvR ges wafd a2
A U IR

. -ufite guname g

F.  EEfy B M

oot 39t

(1) %5 A o0t & (2 wE A

(3) & H amfor & (4) =0« wd

Which of the following factors is/are concerned in the calculation of Green National
Income (GNI) ?

a. National Income

b.  Depletion of Natural Resources

c. Environmental Degradation

Answer Options :

(1) Onlyaandc (2) Onlya

(3) Onlyaandb (4) All of the above
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30.

16 A
‘vgoa faEm 98 (MDGs) 39 dieiiehl #9 |I9A e 9 2
N, qiGEags
¥, Tfeen gaelE
%, i IeEaE

8. fosmadt amfaes wwfierd
gt I

(1) & 3 onfor § (2) H W MM T

(3) w3, 8 AT & (4) e e

Which of the following are measured in Millennium Development Goals (MDGs) ?
a. Poverty and Hunger

b. Women's Empowerment

¢. Environmental Sustainability

d. Global Partnerships for Development

Answer Options :

(1) Onlyaandb {(2) Onlycandd

(3) Onlya bandc (4) All of the above

31.

TfEeT T areishedT] AN YEIdsh! v o=l U1 Bal ?
A, AvETE ¥aT A

9. JUEEA 6Ty qE AN

%, U qm e

. AT G Il

- Ot I
(1) ®ad 3 2N § (2) wd & anfor g
(3) wHd A, ¥ afor & (4) o= g4

Which of the following schemes are included in women and child development
schemes ?

a. Anganwadi Services Scheme

b. Pradhan Mantri Matru Vandana Scheme
¢.  National Nutrition Mission

d. Child Protection Scheme

Answer Options :
(1) Onlyaandb ' (2) Onmnlycandd
(3) Onmnlya,bandc ‘ (4) All of the above

FeeUT HIETIIS! ST / SPACE FOR ROUGH WORK
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32, g Yol FocaTdl WROa wEReTT R S AR SR e TR
B TR 3R, R
. 7o AT RN g1 9T Y9t g,
4. SeerTOEdel Sawfied ? HerhiElel (TTR) Saiiae aead.
F. @ o T W Hivg 9 hamda g8 are. -
T, fivar g GHA aedi.

tl'ﬂ‘fﬁ‘ﬁl’{
(1) wsaFafors (2) wag @ T+
(3) FH T T T | (4) ot g4

In any poverty reduction strategy there is a need to incorporate both
self-employment and wage employment, because

a. Self-employment is a major form of employment in rural areas.

b. Dependence on wage employment will lead to total dependence on the
' employer. ' .

c. Otherwise it will increase the gap between the rich and the poor.

d. It will strengthen the asset base of the rich.

Answer Options :
(1) Onlyaandb (2) Onlybandc
(3) Onlycandd , (4) All of the above
33. ‘oWl giga FRdens € weheTT wawam 1 IEATAd Higedt et

(1) e fopm sam, 1990

(2) "ra fopm sgam, 1997

(8) M= fawm e, 2001

4) wa ﬁan‘ra HEae, 2014

The concept of Human Poverty Index (HPI) was introduced in the
(1 Human Development Report, 1990

(2) Human Development Report, 1997

(3) Human Development Report, 2001

(4) Human Development Report, 2014
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F11 18

34.  RroTHERS TR A G SR A1E § T W3 e 3 FHRO S R
. R IJUEA G F9d
§. A &1 AFKY qrEmg gl Tead
F.  EUHI 91 @ AT AR AhEEEYS Hidk HEd

gt I® :
(1) 31, Fanfor= (2) stafors
(3) s (4) 2 anfor=

Thle phenomenal growth of ‘census towns’ is a challenge as these towns
a. Donot have urban governance structure

b. Do not have the requisite urban infrastructure

c. Result out of rapid population growth

Answer Options:

(1) a,bandc (2) Onlyaandb

(3) Onlybandc (4) Onlyaandc

35. SRISAT YA deE (2012 — 17)5@3’&12%«1%@% ?
(1) ot 3fg 7 fEr faem am
(2) g 9@ 9 Faepw wmo
(3) g T AUF TIGHEYH Jhg AU
(4) g, wvEq AT i wEEmETE atg wwEe
Which of the following was the aim of the Twelfth Five Yeai' Plan (2012 -17)?
(1) To achieve economic growth and stable development
(2) 'To achieve faster growth and development
(3) To achieve faster and more inclusive growth

(4) To achieve faster, sustainable and more inclusive growth

FoLyT HHWTS! ST / SPACE FOR ROUGH WORK
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36. wreherh F el ARz (GEO) ¥ Tawast avi %1 ?
(1) SeEEEEEEaE = 20,000 fFHH, 3 T a1 qfymong 12 9" .
2) wHEEeEEEEE S 36,000 fRH, 9 @ Fa1 (YW 24 99 SIER.
(3) AqEEIEIE! 39 400 R 7 ©F a1 TRy 90 R .
@) = Fadz @
Which of the following describes the Geostationary Orbit (GEQ) correctly ?
(1} Altitude of 20,000 km above the sea level and the orbital period is 12 hours.
(2) Altitude of 36,000 km above the sea level and the orbital period is 24 hours.
(3) Altitude of 400 km above the sea level and the orbital period is 90 minutes.
(4) None of the above ‘

37. Sueq IR TEd (L) FETAETE R FRE SEEe o ?
(1) 3 Hew ITEAT HaT
(2) fhoft &4
(@) e T e e it s
(4) e wd '
In Fresnel’s Biprism, the value of wavelength (A1) depends upon
(1) The distance between two coherent sources
(2} The fringe-width

(3) The distance between slit and eyepiece of telescope
(4) All of the above

38, 7 AR GO g YA FA 50 cm Iy, I e ieAr AT fipne i o feft

A ?
(1) 50 cm, & (2) 50 cm, 9%
(3) 25 cm, HdEH , (4) 25 cm, qFEdsH

What focal length should the spectacles have for a person for whom the least
distance of distinct vision is 50 em ?

(1) 50 cm, concave (2) 50cm, convex
(3) 25cm, concave (4) 25 cm, convex

ooyl FHIEISE ST / SPACE FOR ROUGH WORK P.T.O.
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39. 10 sitgw=n Ay 12 V 21 fogawer Seee Gurgd llAﬁgaﬂmaTaﬁ Forgaaeran sieta
Y el
1 100 : ' (2) 01Q
3 1092 4y 091Q
A resistor of 10 Q connected across a cell of emf 12 V, draws the current of 1-1 A.
Find the internal resistance of the cell.
(L 1V (2) 01Q
(3) 1089Q 4) 091Q
40. THAEEET 1 ffedfie AU et g9 ani iy TseEE 1 e Satat okl
JnEA. WWOWWWWW@WWW
AR g et fadt 2
(1) 50 mm (2) 0-5mm
(3) 50cm (4 0-05mm
Two parallel slits 1 millimetre apart are placed 1 metre away from the screen. What
is the fringe separation due to interference effect, when a beam of wavelength
500 nanometres is incident on them ?
(1) 50 mm '  (2) 05mm
(3) 50cm (4) 005 mm
41.  TH I N 36 x 107 J/min T IO FEh IR, @ET §RH 54 x 108 I/min

T P HAE. H9 o Sriegd fRd o=k s 2
(1} 15% 2y 12-5%
3) 85% (4) 875%

A steam engine delivers 5-4 x 108 J of work per minute by taking 3-6 x 10° J of heat
from its source. What is the efficiency of the engine ?

(1) 15% (2) 12:5%

3) 85% (4) 875%

FHEAT HFISL FFT / SPACE FOR ROUGH WORK
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42. FE FIEEY qEATA FANRGS AN BE 9 Gioal ghS USH T &% SRR AQY. e

AT TRV,
(1) wenfdm ' (2) 9RU e
(3) SEF (4) sfiga g

In some trees, copper deficiency may cause blisters and deep slits in the bark from
which exudes gum. This disease is known as

(1) Exanthema (2) White bud
(3)‘ Dieback ‘ (4) Necrosis

43. G Wis AifRISTH B siftrran frdt ATP R grara ?
(1) 37 (2) 44
(3) 60 - 4) 50
The maximum yield of ATP from the complete oxidation of sucrose via aerobic
respiration is )
(1) 37 (2) 44
(3) 60 : (4) 50

4. TR (ErEE) e e Tgd S et 2

(1) *ew fomrm (2) sium A gt

(3) Tashwrea 4) e

The binomial system of classification was given by

(1) Carolus Linnaeus (2) Bentham and Hooker

(83) Theophrastus (4) Hutchinson

45, W IH. 99, 7R I, IHER Fiied e e Sftaa iy owie TR gy

. a3 u=d ?
(1) geded B (2) g g fagia
(3) widem fag (4) e T« faga

According to Sir J.C. Bose, an Indian scientist, ascent of sap takes place due to the
of living cells of the innermost cortical layer.

(1) pulsatory activity (2) - transpiration pull theory
(3) cohesion theory (4) root pressure theory

Feed] BHTEIS! SN / SPACE FOR ROUGH WORK P.T.O.
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Grefleri Hurdt S e frgia fam senidie w@efi e ?
A, s e faga

¥, I@iEdT e faga

%, qnen F9 o fagi

3. fornm fagm

it I ‘

(1) &, Fanmng (2) JA, T

(3) &, FHaAME (4) sfer@d

Which of the following theories are related to evolution of life ?
The theory of natural selection

a
b. Mutation theory of evolution

0

Theory of inheritance of acquired characteristics

d. Theory of segregation

Answer Options:

(1) a,bandd (2) a,bandc

(3) a,candd (4) All of the above

47.

A
b. STH

areftete et G fregh et s 2

A R |

3. wwfRu.

%  wgdsh

T udum.

iR IW ;

(1) s 2) safu=

(3) A, T (4) &, 93[O H

Which of the following are hormones of the pituitary gland ?
TSH

HCG

d. ADH

Answer Options :

(1) aandb (2) bandc
(3) a,bandd (4) a,bandc

¢ ]
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FiSEen & rcfiadh Hie S/ Fd ?

A

W T/ S

F. g gaval

T ¥R gadA/aer

qatH IW

(1) =, anfer =+

@) T, FAfe

(3) A, waMUrs

(4) wha & | ,
The skeletal system performs which of the following functions ?
Protection

Hematopoiesis

Movement facilitation

Aa e T

Mineral storage
Answer Options :
(1) a,bandec

(2) b,candd

(3) a,candd

(4) All of the above

49.

firR Hea 91 SFTEAR 996 I HEud 9, mwﬁmmﬁmﬁmﬁzﬁm
R TSR e et S @ ?

(1) ¥ TN (%es HiHl)

(2) 98 Hicg (gusft)

(3) TWE= TS

(4) HE UHS

Gregor Mendel is often referred to as the Father of Genetics, since he first
enunciated the principles of heredity. His experimental material was

(1) Fruitfly

(2) Bread mould
(3) Pea plant

(4) Rhesus monkey

32| mmraﬂwrr { SPACE FOR ROUGH WORK P.T.O.
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50. ‘M’ B Hoiged SR fasd A=l Ca, Mo Ba® ___ .
(1) Be (2) Mg 3) Sr 4) I
The element M in the Dobereiner triad Ca, M and Ba is
(1) Be (2) Mg (3) Sr 4. I
51. FMGod FehiEid Fu
(1) frdmia (2 e
3) @ AhEA 4) FERNRE SFeREa
Wood grain alcohol is nothing but
(1) Methanol (2) Ethanol
(3) Benzyl alcohol (4) Isopropyl alcohol
52, IO FARA g fmesan S
(1) AffEES= 3 w7 9red (2) S RO
(3) TS FiguATETS (4) 7 feraenit g UreEwEEE
Water is often treated with chlorine to
(1) Increase oxygen content (2) Kill germs
(3) Remove sedimentation , " (4) Remove insoluble impurities
53. WS Tervar R 2.
(1) ww wiiew srtufsen (2) e TEA AfalH
(3) I (DF(Q2) (4) hivwiifE e
Corrosion takes place as a result of
(1) Only physical reactions (2) Only chemical reactions
(3) Both (1) and (2) (4) None of the above
54. “gfis agm= J YAV &I HET 7,
(1) =J&A (2) WA (3) fdm (4) ¥
Natural gas mainly consists of
(1) Butane (2) Propane (3) Methane (4) Ethane
556. Wit SIS ST HEHITT HE oft o fresd ?

(1) wHieH (2) fafis (3) whA (4) =q=
Fats and oils belong to the naturally occurring group of compounds called
(1) Carbohydrates (2) Lipids (8) Proteins (4) Terpenes -

FroeaT HIHTATST ST / SPACE FOR ROUGH WORK
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56, WTHIT T4 Gielietdeh! ST el 26 Togar 1949 Jsht &ry wredn ?
A, AT g, FagEs (Fem-324)
%. ARG §6g 3. TEd AR
gt I9e .
(1) AT+ (2) {|FAMWME (3 HNA* (4) Famiory
On 26th November, 1949, which of the following provisions of the Constitution of
India came into effect ? 7
a. Citizenship b. Elections (Article-324)
c. Provisional Parliament d. Fundamental Rights
Answer Options: . :
(1) a,bande (2) b,candd (8) aandc (4) aandb
57. mmwwmmmwmmm
- otar AR e 3w ety fem ¢
(1) vt TR GEg TRa TR
(2) Mewy g oW T
(3) FyErg It faeg e T
(4) oot ey . faeg @ @@
In which of the following cases did the Supreme Court of India pronounce the verdict
that the basic structure of the Constitution cannot be amended by the Parliament ?
(1) Shankari Prasad vs Union of India .
(2) Golaknath vs State of Punjab
(3) Kesavananda Bharti vs State of Kerala
(4) Minerva Mills Ltd. vs Unicn of India
58, WRATS IYUSHH! IWd Gieterdht Hivd fum g@#ia g ?

A wmmmmmmﬁﬁmmm
. %wﬁwwﬁ?ﬁnﬁmqﬁmﬁmmmmmmm

TR T A

®. W e GeevEhmd) M 20 waer ¥ s il 20 WAeR 3 ARSI
SETTH A, _

1 A 2 = (8 = 4) TR ) T

Which one of the following statements about the Vice-President of India is

incorrect ?

a. The electoral college for election to this office consists of the elected members of
both the Houses of Parliament.

b.  He can-hold the office of the President for a period not exceeding six months in
the absence of the President.

¢.  For election to this office a candidate’s nomination paper must be subscribed by
at least 20 electors as proposers and 20 electors as seconders,

(1) a (2) b 3) ¢ " (4) None of the above

FPoegT HIIAIS! S/ SPACE FOR ROUGH WORK | P.T.0.
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59. wGreha faum fa=mm o -
&, i aftegt @ weTeRs EEen aTEa.
[ YAYYH B @a fovnia aivee st Tevm w1 .
. Yo gEaEll B ASIN@h favria efteeEn Iure g e .
5. 3 e s fremi dhgen S Sehi sTaser F e e,
(1) faum 1, 1 anfor & <O (2) faum 9, % anfir g a0
(3) faum &, = anfo g s (4) faul = anfd g s
Consider the following statements :
a. Zonal Councils are the constitutional bodies.
b. The Prime Minister acts as the Chairman of all Zonal Councils.
¢. Each Chief Minister acts as the Vice-Chairman of the Zonal Council by rotation.
d. Joint meetings of two or more Zonal Councils are presided over by the Union
Home Minister. :
(1) Statements a, b and ¢ are correct (2) Statements b, ¢ and d are correct
(3) Statements a, ¢ and d are correct (4) Statements ¢ and d are correct
60. Tnfy® AEAEHT gET TOTERE YA SAEFTAT HEleA Agarander Rt

311%?‘[. .

A, TH Y AREEINET AUE AREEI IEATAT 98 WS §9F AR I
4. T GET AT -G TS e,

%, TENNS o s,

5, foce UER T S snfu @e gen afve o ferfieaed =1 #.
Tt I

(1) 1, 9 3o = (2) 9, % g

(3) A, HIOS (4) A, 9, % AM0T S

Recommendations of the Sixth Report of Second Administrative Reforms

Commission on Local Government are

a.  Set up unified metropolitan transport authority in all cities of one million plus
population.

b.  Constitute a local body ombudsman.

c¢.  Direct election of the Mayors,

d. Set up District Councils and the Collector would work as the Chief Secretary.

Answer Options:
(1) a,bandec (2) b,candd
(3) a,candd (4) a,b,candd

FoedT HHFTHIS! AR / SPACE FOR ROUGH WORK
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61. WAt wudl wrigds o @ g TSIUET M Fegdl, WY WNT @ERE AW

TEATGEEATGR FTe ?

A IR fmar s w0,

q. QRO S 9 gade A 31 3 Siegsie v w .
%. UM HWEEd T JETHT §A 3.

T FEH Al wyad) o e wied Sl wgr.
{ wd i Sweifadeh gt anm gifia s,

(1) H, 9= (2) «, wanfire
(3) @, gafurd 4) H,gafrs

Which of the following Directive Principles did nof form part of the original
Constitution and were added through constitutional amendments ?

a. To minimise inequality in income.

b. To protect and improve the environment and to safeguard forests and wildlife.

c Equal pay for equal work for both men and women.

d. To ensure equal justice and free legal aid to the poor.

e. To secure adequate means of livelihood for all citizens.
(1) a,bandc (2) bh,candd
(3) c,dande (4) a,bandd

62, TAEIR Fodt e st omed ?

9. T HFH $E IHa TEL.

F. TG B T H THhd.

‘3. HHG H A16q WhA .

3. UEE H HH %S .

(1) 31, & anfor § ' (2) W, % Mg
(3) &, sanfs (4) wanfrg

Which of the following statements are correct ?

a. Parliament can increase a tax.
b. Parliament cannot reduce a tax.
c.  Parliament can abolish a tax.
'd. Parliament cannot increase a tax.
e. Parliament can reduce a tax.
(1) a,cande ' (2) b,candd
(3) ¢, dande (4) candd

FOT BIFTHIS! AR / SPACE FOR ROUGH WORK ' ' P.T.O.
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63. I VB <A1 G Wicflaishl Hivrd foame s omed ?
A, G FETGHHE Y Wel 8 ATEaqy GheT WHaHE e 31T,
9. RIS O S AHATER I Ae] TYed] SIE I Tl TEUAT.
. B deheu T 1962 T TeaaTd el
. YA VB § HHE TG 3Ty WEed ST EEdrs e .
(1) o, aanfun = (2) o, % MU s
(3) ¥ & (4) o= ad
Which of the following statements regarding Zero Hour are correct ?
a. Zero Hour is an Indian innovation in the field of Parliamentary Procedure.
b.  The time gap between the question hour and the agenda of house is known as
Zero Hour.
¢.  This device has been in existence since 1962.
d. Itis aninformal device available to the members of the Parliament.
(1) a,bandc (2) a,candd
(3) bandc (4) All of the above
64. wrels faum wama = |
H.  TEESE e faundie T @ erEen TR gAtey STEedl S S eI,
&, urged yitfirsea guifase eI S A AT geee Bl
®. 1996 Hed HH T GA1EE PESA HHS W9l e
TR T e/ ST ST ?
(1) 3o g (2) & 3o+ (3) wEd A (4) sl ad
Consider the following statements :
a. The provisions of Part 1X of the Constitution relating to the Panchayats are not
applicable to the Fifth Schedule Areas.
b. At present seven states have Fifth Schedule Areas.
¢c.  The Parliament has enacted the PESA Act in 1996 for such areas.
Which of the above statements is/are correct ?
(1) aandb (2) aandc (3) Onlya (4) All of the above
65.  TSTHEATAl oAl el f&dt amien yew areav, & wwaren wfvs swpdon 94 qes

sfieradi yram g IThTe d5a o T fren faew waEh sawed &g eI
faeft o2 ? :
(1) oH 343 (2) cH 348 (3Y oM 350 (4) HEW 351

Which Article of the Constitution provides that it shall be the duty of the Union to
promote the spread of the Hindi language, to develop it so that it may become the
‘Lingua Franca’ of the composite culture of India ?

(1) Article343  (2) Article348  (3) Article350  (4) Article 351

FeelT HIHTRITS! ST / SPACE FOR ROUGH WORK
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TR Terer=a gu=n IRl Ft weifemm=ne qrad, W, fadrfien s gat amsh

(1)
(2)
(3
4)

fera@e STEvd
freraiges Juream

AT e

e Faas 8 dgeEadiEs

The Second Schedule of the Indian Constitution mentions salary, allowances and

other privileges of certain officials. Which one of the following is not amongst those
officials ?

(D
(2)
(3)
(4)

The Deputy Speaker of Legislative Assembly
The Deputy Chairman of Legislative Council
The Attorney General of India _
The Comptroller and Auditor General of India

67. Greftateh wivrd foum /faam stet omea ?

AFEAAT Fo8 T Herd Tsaaied ARG TUTHE 6.

Teaaaat Al AT o IR G HHIEG ARUETS! HEATHe ag .

Frcht rfasfira wmagin S T SR AT T FRE FH A,
TERIG 9TEE TRt i STyt o g RasvpEhid AaeH % M.
I (2) HAMTS

FFd | (4) wF &

Which of the following statements is/are correct 7

(1)
3)

Only the Rajya Sabha and not Lok Sabha. can have nominated members.

There is a constitutional provision for nominating two members belonging to
the Anglo-Indian Community to the Rajya Sabha. '

There is no constitutional bar for nominated members to be appointed as Union
Ministers. ‘

A nominated member can vote both in Presidential and Vice-Presidential

elections.
aandb (2) candd
Only b {4) Onlyc

e STHTATS! SR / SPACE FOR ROUGH WORK | P.T.O.
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68. U HYH/FA ABE ;.
A HIE AFETEEE U g THEATE R,
q,  HIE AL oW & TATEER ATd.

It I
(1) %F H (2) B F
(3) o anfor 9 Q-2 (4) 31 3§ SR AT

Select the correct statement/s.
a. Some democratic countries are republics.
b.  Some democratic countries are not republics.

Answer Options:
(1) Onlya (2) Onlyb

(3) Bothaandb (4) Neither anorb

69. I HYH/HH AlSEI :
#A. i Teamed "5d i Aftehran J99 .
9. AT TSIEd e Ueh I SR ITNRT Har.
F.  qhg Fadt oAl Td AT SRR ST .
. meﬁaﬁmﬁaaﬁmmﬁaﬁ

Tt I
(1) %ad 31, § afor = (2) ad 3T, § A B
(3) wad A o o (4) ed 3, & Mg

Select the correct statement/s.

a. A citizen enjoys all the civil rights in the State.

b. A citizen enjoys all the political rights in the State.
¢.  An alien enjoys all the civil rights in the State.

d. An alien enjoys all the political rights in the State.

Answer Options:

(1) Onlya,bandec (2) Onlya,bandd

(3) Onlyaandb (4) Onlya,candd
70, Ay HEHER A (T W)

¥ frgw A ) L

%, Aued™ T HEW

ot I ;

(1) ¥, 8,8 & (2) 9 & A

@) &,8,49 H 4) B9, A, %

Arrange in appropriate order (formatlon of the States) :

a. Mizoram : b. Nagaland

¢. Meghalaya : d. Maharashtra

Answer Options :

(1) a,d,b,c (2) d,b,c,a

(3) e¢d,b,a (4) d,b,a,c

FoEgT SRS AR / SPACE FOR ROUGH WORK
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= foreror Sarelie (e a0t dedft qdeehl Fve faum gaer o 2

(1) 2005 wrer=a1 A0 fislier Fiea SgwmaEE T gF ST 3= e grumad) @
e =01 <t e et Bt

(2) T G 3 € 3 fuee gern farend) wa Fame T = B F e,

(3) wsarem 3= thgw Sade Fames 930 Y e fams S 3= e dee S
AN T Sheft R, @ F3om o 3= fiaor genfisoo e g3 (HEERA).

(4) weATe HeE I figor gAm frarfis SHgE AW (UGC) ® Taid A srEere
FramTes a9 AR,

Out of the following statements about the regulatory body in the field of higher
education, which is noet correct ?

(1) National Knowledge Commission under the leadership of Sam Pitroda in 2005
had proposed independent regulatory authority for higher education
institutions. .

(2) Yashpal Commmittee recommended smgle independent regulating authority for
higher education institutions.

(3) Central Government has proposed to replace present regulatory bodies in the
field of higher education with a single regulatory body called Higher Education
Empowerment Regulation Agency (HEERA).

(4) University Grants Commission (UGC} is the only existing regulatory body in
higher education at present. '

72,

wdiertrht arg faum/a e

H.,  URAHE Tl Th §oR AIhaEIHT U 9T Fift Sidel Iu0sy .

¥, Irfdd ST dueiqu g N0 wmEeas UM ¥r 3 : 1000 (1000 FREIS!
3 S W .

gt I :
(1) ad & (2) wFE
(3) a1 Infor g A 4) = anfr 9 = T

Choose the correct statement/s from the following :
a. India has less than one doctor per thousand population.

b.  The World Heath Organisation prescribes a minimum doctor — population ratio
of 3 : 1000. (3 doctors for 1000 people)

Answer Options:
(1) Onlya ' (2) Onlyb
(3) Bothaandb (4) Neither a nor b

Foed] HTHTAIS! TR / SPACE FOR ROUGH WORK P.T.O.
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73.  WRGTSA WS HROTIT qeeish Fft aior aedft famne wive faum g@#er e 2

(1)
(2)
(3)

g 9w srare foraria S 3w v anfirn-dfafees wewmer aw 2.
g 90 J@BTa A1 YR TR ARG AT,
1 G STrE-ffees st S Siawg guia @y QEhR B IR,

(4) T Gon Fwfid TR PR B AE-ORis onftt wRdy e weEd

YOG ATST SrevamaTd) Toeh N1 Tyl seatiqT=re! Ihi el 311,

Which of the following statements is incorrect about India’s ‘Act East Policy’.

(1)
(2)
(3)

4)

This policy focuses on the extended neighbourhood in Asia-Pacific region.

This policy was originally conceived as an economic initiative,

This policy promotes enhanced connectivity to Asia-Pacific region through
North-Eastern Region. '

This policy promotes proactive diplomacy with political and military
intervention to curb insurgency in the Asia-Pacific and Indian Ocean Region.

74, meﬁﬁuﬁﬁamw
A, T GEHR RG TSR GRI 1952 IHT FEIE 8.

9, 1982 A1 WG AGHAT Tl Felagd feen Jd g

F. AT TEHEAT AR IS e e

T 2017 91 [WEHR FM Hiadt A1 Sifva e 313,

el Hiurd faum stew a1mea 2

(1) 1,93 , (2) 9, &g
(3) =enfirg 4) 1,9, FaMfrsg

Consider the following statements about ‘Jnanpith (Gyanpith)’ Awards :

a.

b.

c. .

d.

Sponsered by the Government of India since 1952.

Prior to 1982 it was given for single work of a writer.

Now it is given for lifetime contribution of the writer.

Award for the year 2017 has been declared to Krishna Sobti.

Which of the above statements are correct ?

(1)
(3)

a,band¢ (2) b,candd
aandd (4) a,b,candd

75. 1534 fad AT areg o I ?

(1) .5, G (2) ., fumn
(3) W& ToH (4 %, =
Who is the Chairman of the 15! Finance Commission ?

{1) N.XK. Singh : - (2) N.K. Mishra
(3) N.K. Rajan (4) N.K Tyagi

ool BHIETHIS ST / SPACE FOR ROUGH WORK
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76, gér it gad werR 4 Ree s (MMRDA) fredt 3 9 fem gae am ?

(1)
(2)
(3)
(4)

1 VIR W@ gEEl ARa.
1 iR TEEAT 1975 Al @il 3nR.

ma@wﬁrm,ﬁw,wﬁg@ammmﬁwﬁnﬁw
TEAREIS T FEE AL

Which of the following statements about Mumbai Metropolitan Region Development
Authority (MMRDA) is false ?

(1)
(2}
(3)
(4}

Chief Minister is the Chairman of this authority.
This agency was established in the year 1975.
Metropolitan Commissioner is an appointee by the Government of India.

This agency brings about improvement in sectors like transport, housing, water

supply and environment in the region.

77. <. Hitguwe i sawam Saemy 9. SisaEEd 1 @ gt ?

(1)
(2)
@
@

3 o (v T SR e TR) 3 e B,
A T g famdien Ferrs 2.

¥ A fawm d@ed) daes B,

= UGC = s Frgaht smeft.

Dr. Dhirendra Pal Singh was recently in the news. Which is not true about him ?

(1)
(2)
(3)
(4)

He was the director of NAAC (National Assessment and Accreditation Council).
He was the Vice-Chancellor of Banaras Hindu University.
He was the Director of Indian Institute of Science.

He has been appointed as the Chairman of UGC.

FeeaT FTETAL ST / SPACE FOR ROUGH WORK | - PTO.
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78. HERTIAA B SSA AW AT IMEW AT HAE Fa e A ?
(1)  nicard yrmdiet 3= fhest Teamd e SRR FEwEEs.
(2) onfeawd wrder sreafie R T et @ ER wEvaTaT.

(3)
4)

In Maharashtra, Dr. Abdul Kalam Amrut Ahar Yojana is related with

(1)
(2)

Providing square meal in higher education institutes in the tribal areas.
Providing square meal to the needy students in the secondary schools in the

tribal areas.
(3) Providing square meal to the pregnant and lactating mothers in the tribal
areas.
(4) Providing square meal to Anganwadi Sevikas.
79. SN @A
(@) (F&7)
d. VAR T 1. &R
q.  UH TS II. 7 g 3 &af
F. gt e . 377 § &lc 3T g
g fqo= wram V. 37 3% gr@a
= 2 ® T
n 1Iv 111 11 I
(2) IV 11 111 I
(3 1I v I I
4y 1III v 1 I
Match the pairs :
(Author) (Books)
a. Shashi Tharoor I.  Ghachar Ghochar
b. Raghuram Rajan II. The End of Karma
¢.  Somini Sengupta L. I Do Whatl Do
d. Vivek Shanbhag IV. An Era of Darkness
a b c d
1) Iv 111 11 I
2) W II 1L I
(3) 11 v 11 1
4y III v 1 11
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80. 2017 WS A TRARED Frgan SRR T Aeet o, qeeRen Bt wfd @
gt ?
A TRAGIHETS . 9. T9T® HE oW
F. I AR HIE T FAT T s A&
3. BV I T I
it I |
(1) #,9,%,83 (2 §,sAME (3 & FAMg - (4) sug
Kazuo Ishiguro is awarded with Nobel Prize in literature in 2017. Which of the
following are not his works ?
a. - The Remains Of The Day b. A Pale View Of Hills
c.  An Artist Of The Floating World d. Norwegian Wood
e. Kafka On The Shore '
Answer Options :
(1) a,b,c,d, e (2) b,candd (3) b,cande (4) dande
81. gy fum s
A, UH AFIH AE W IREE @A I 2011 7 Il Seft e,
9. et I wEt S oiteg geiite 3 2015 we st el eft.
%, el Jifae 9TEel ©E uing g 39 2017 e i et el
Q) = 2 « 3 = (4) OIS HIvaE AT
Select the incorrect statement.
a. The first Global Conference on Cyber Space was held in London in 2011.
b.  The fourth Global Conference on Cyber Space was held in Budapest in 2015.
c. The fifth Global Conference on Cyber Space was held in Delhi in 2017.
(1) a (2) b 3) ¢ (4) None of the above
82. gy fRam fasn.

A, wEAF Fff 10t R Asht smifess AR SR e wevE gresen .

q. ST AFfEE TRRE fe7 2017 < dew wmren fawnft ke o’ € St

% Y a7 e Aot Ao oI fm w e S,

g 2017 G ANRE A el werewAn AU owft B,

1 = 2 ¥ 3) * (4) w0 Hod TE

Choose the incorrect statement,

a. The World Mental Health Day is observed on 10th Qctober every year.

b. The theme of 2017 World Mental Health Day was ‘Mental Health at the
Workplace’.

c.  The World Health Day is celebrated on April 7t2 every year.

d. The theme of 2017 World Health Day was ‘Depression’.

(M b ' 2 d 3) ¢ (4) None of the above
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83. WK YRAM 5 e d 25 et 2017 & 21 Rgwra wews A "IN
el
(1) wHeawd (2) A1 GHEE
(8) TSI wehrewa vd (4) AR e Srpfe stftee

From 52 October to 25t October 2017 — this period of 21 days was celebrated by the
Government of India as

(1) Paryatan Parv | (2) Swachhata Pakhwada
(3) National Integration Parv (4) Mental Health Awareness Abhiyan
84, YT MEANET WRd A &1 wgedqul S0 _ ¥ HeEdid .

(1) wrarde arfior anfr gt wrraes sTede e ge
(2) YR a6 3= N T FEHS ga1 a0
(3) WA T o4 RYFER Fieds ¥ [@or
(4) WRAKS 99 SR ST Jgas W g0

‘Bharat Net’ is a flagship programme of the Government of India

(1) To provide broadband services in rural and remote areas in India.

(2) To provide broadband services in all higher educational institutes in India.
(3) To provide broadband services in all railway stations in India.

(4) To provide broadband services to all government hospitals in India.

85. WERTY Wre=Te gufaerd gencstien Iafirh ufgen wanfieror g wemsh deifia amg 2
(1) (3TgH 9 Ftedn) I Afge TEagea] 9qgiqT <A IAgH SuawErEd
(2) ufven TR bR G w T
(3) Hwd anfdr Arg wefter wfgen ot s wrh
(4) WERIGTE TEREETA VST 4% T F TEeT B!

Government of Maharashtra’s Sumatibai Sukalikar Udyogin'i, Mabhila
Sakshamikaran Yojana is related to ‘

(1) Interest subvention to eligible women Self Helf Groups
(2) Loan facilities to women entrepreneurs to buy land
(3) Tax waivers for women entrepreneurs in Mumbai and Nagpur

(4) Loan with 4% interest to women Self Help Groups in Maharashtra

THeelT HRTATS! SR / SPACE FOR ROUGH WORK




A 37 F11
86. IR HEn T TN HEgeed 8 et wael ?

(1) <80 I« (2) WIS

(3) P (4) ThQA

Who from the following Gupta kings took the title of Mahendraditya ?

(1) Chandragupta II (2) Samudragupta

(3) Kumaragupta (4) Skandagupta
87. S &

A, qgm I ¥

LA II. A FOW -

%, ol I T T SR

g foumn IV. ey anfor Redn ¥ S 3@ SN

qaidt IW

HA q & k-

1 v 111 11 I

(2) II I v IIT

3) I I I v

4) III v I I

Match the following :

a. Takshan I.  Carpenter

b. Bhagadugha = II.  Collector of taxes

c. Kshattri III. Chamberlain

d. Vidatha IV. An assembly in which both men and women

participated
Answer Options :
a b c d

(1 v I I I

(2) 1 I v I11

3) I I III AV

(4) III v I .
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88. Wrela faummT faar w0 a T A iy fae

< mﬁmmmmwmmmw
AT e SRS iRy e aga.

¥ UIRRES AER 9 fige, senevrda wrear, s, wor, senfe S ammmer i
TCHdr RN fia 3.

g I ;

(1) 2 Ram st amga

(2) 2 faum gl smga

(3) fum o1 SO o, wiq faum ¥ g o

(4) Taum @ SO TR, W fagm & g o

Consider the following statements and choose the correct answer option :

a. The relics of Chalcolithic civilization were found at Jorwe, Nevasa, Daimabad,
Chandoli, Songaon, Inamgaon, Prakashe, Nasik, etc. in Maharashtra.

b. The relics of Chalcolithic civilization were found at Ahar and Gilund in
Rajasthan and Malwa, Kayatha, Eran, etc. in Madhya Pradesh.

Answer Options :

(1) Both the statements are correct

(2) Both the statements are incorrect

(3) Statement a is correct but statement b is incorrect

(4) Statement b is correct but statement a is incorrect

89. TN Ig TSI HIUTE T B ?

quifea o fawanfi
(2) fovarfa 7 wa s
(3) Hgw T afvm
(4) Y& 9 favafim

Dasharadnya Yuddha (war) was fought between whom from the following ?
(1) Purohit and Vishwamitra

(2) Vishwamitra and Bharat tribe

(3) Sudas and Vasishtha

(4) Puru and Vishwamitra
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90, el Hiven FeeramE THTe SR ‘et =i wfed g ?

(» R R

(2 g BemeE
(3) wfem firamcra
(4) e e
Which of the following edicts have information about Samrat Ashoka’s Dhamma ?
(1) Minor edict |
(2) Bhabru edicts
(3) Kalinga edicts
(4) Fourteen edicts

91, X[ WA USU= 91 Wid 9 ST TS AT el e ¢

. I9WY [ sy
%, qfy=w 9y II. gauifst
% e III. I
AR V. asfyen
H q CD k-
(1 1II 111 v I
@ I v II 11
3 IV III I II
4) III I v I
Match the four provinces in Chandragupta Maurya’s kingdom with their capitals :
a. Uttarapatha L Patliputra
b. Paschim path II. Suvarnagiri
¢. Purva path ITII. Ujjayini
d. Dakshin path Iv. Takshashila
a b c d .
(1) II III v I
(2) 1 v II III
3 IV IIT I II
(4) I II JAY I
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92. WEid fatEs e Alear
3. guEd, fagm onfo s
F.  Widg B FEA F N TAHa! BT 9 NGISid IgaY <A1 EW g,
3. ‘undr IR s fde v e yeEn S
i IW
(»  sRE (2) Hs®
(3) G (4) <gra o
~ Identify the person from the following description :
a. Founder of a great empire.
b.  Cultured, scholar and a poet.
" ¢. The famous poet Harisena was his court poet and Buddhist scholar
Vasubandhu was in his court
d. Vincent Smith praises him as the ‘Indian Napoleon’.
Answer Options :
(1) Harisena (2) Kanishka
(3) Samudragupta (4) .Chandragupta Maurya
93. wlte faarmasT syft e ¢

¥, T IANM TSI FEE TE ol

9. O T W 7 IwE FT) g,

. U UeTiEat @R HOW 9fEe geraH /M.
3. oA GEN AR GEU & e F gl

W‘iﬁ'ﬁﬁ:
(1) steaws (2) WEAG qIOE
(3) TgREN fawsh (4) I VEH

Identify the person from the description given below :

a. He destroyed the dominance of Ulemas in the State.

b. He was a mighty warrior and a successful general.

c. He was supposed to be the first Sultan to attack the Southern kmgdoms
d. The famous poet Amir Khusro was in his court.

Answer Options ;
(1) Altamash _ (2) Muhamad Tughlaq

(3) Alauddin Khilji (4) Qutubuddin Aibak
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Tiefiet fgeRumae st e
A A YA € IgE S0ATd ST B
q. AT STERE TS Wihg e et g
¥, AL TER TR A T e g,
3. fae, o o gEEWE TereA TeATT A | weha fig T g,
(1) THE W (2) erhell wem
(3) vufgen v (4) FTREHE
Identify the person from the description given below :
a. He was given the title Andhra Bhoj.
b.  There were eight famous Telugu poets in his court.
c.  He established the city called ‘Nagalapuram’.

d. He was the only Hindu king to conquer the capitals of the Muslim kingdoms of
Bidar and Gulbarga.

(1) Rama Deva Raya (2) Pulakeshi
(3) Parantaka I (4) Krishnadeva Raya

95.

- Y geaH i 3o AT ST HRTIET qgr Wiefleideh! v atqg Jegd? ?

(1) 993 gg we W Gred B T R .
(2) A e Fmt T r g,

(3) g SF AR TR aiefiw sl

(4) g AN BT ERR HE,

Which one of the following provisions was not involved in the treaty of
Shrirangapattana between Tipu Sultan and the British ?

(1) Tipu should give the war expenditure worth three and half crore rupees to the
British. _ '

(2) Tipu should give half of his State to the British,

(3) Tipu’s two sons will be hostages of the British.

(4) Tipu should accept Subsidiary Alliance.

96.

T T o e wddt SR sfean ded ge Sheft B,

(1) 9w & <9 (2) Wew HmT
(3) 3 e (4) vHEA ?Wla'ﬁﬁ '
had also founded ‘Free India Centres’ in Rome and Paris.
(1) Subhash Chandra Bose " (2) Madam Cama
(3) Annie Besant ' (4) Shyamji Krishna Varma
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97. IS AIHETA DI qUH FA R ?

A ot meisfiEh w3 sgEwEt A

7. @ ffew oo g genft g,

%, & i A T i o,

(1) Rz Rafem 2 fim s

@) fmwmr (4) P i

Who is described in the following sentences ?

a.  She was Gandhiji’s staunch disciple.

b.  She was the daughter of a British admiral.

¢.  She was popularly known as Mira Behn.

(1) Sister Nivedita (2) Miss Carpenter

(3) Miss Slade (4) Miss Nightingale
98. W fFammEn fem w0 3 ST I W@y faer

# vEnw fafgy afm aemd e ot TR won swEelem aueE geavarE]
TRIErE FHoUT [CIHhEd Todes HUATH! 81 2d il

T, ¥ HE HAW i e .

Qg IW

(1) ﬁ%ﬁﬁuﬁaﬂmaﬁﬂnaﬁmma%?ﬁmwﬁwm
(2) A= fum g e

(3) =t fum st wig faum & faum s 2 99 oydieeor T
(4) faum o1 =T qu faum o %

Consider the following statements and choose the correct answer option :

a. The new variety of activity in India therefore called for the transformation of a
traditionally and mentally subject society into one receptive to democratic ideas
and responding to the call for agitation. '

b. It was an arduous and stupendous task.
Answer Options :

(1) Both the statements are correct and statement b is the correct explanation of
statement a

(2) Neither of the statements is correct

(3) Both the statements are correct but statement b is not the correct explanation
of statement a

(4) Statement a is correct but statement b is incorrect
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TEiel J19GTd U A THNEETE S0 § e

W N afed &= B onfr 3 FHGR-ASR WV HaTeY w8

%, e wede R I o gt srege wR.
3. ¥ I SEAe §5hd g wehe .

(1) wEe Sarder Ba

(2) i JaBHL

(3) o qETHIRY SAESH

(4) = o

Name the social reformer described in the following sentences :

a. His family believed in the teachings of Kabir who condemned the caste system.
b. His father served in the army and retired as a Subedar-Major.

c.  His satchel was untouchable for the lady peon in his school.

d. He could not study Sanskrit because he was an untouchable.

(1) Mahatma Jyotiba Phule

(2) Shri Javalkar

(3) Dr. Babasaheb Ambedkar

(4) Shri Gholap

100.

QT STeRITd U] QUIGHITHT qUH el 3R ?

q. A% uArEn didfieh R SOAEEl d 2F auieidr $age e B,

. ITEn dvffe wiufmeen ¥ Iufeid ¥

T g vhad 3 e w0,

(1) ST JEERT e (2 faga weh R

(3) e IS (4) U4 Y

Name the social reformer described in the following sentences :

a. He was the recipient of the American Unitarian Association Scholarship.

b. He had been to England for two years for the comparative study of many
religions. ‘

c. He attended the conference on religions at Amsterdam.

d. He used to write for Subodh Patrika.

(1) Dr. Babasaheb Ambedkar {2) Vitthal Ramji Shinde
(3) Bhaurao Patil (4) Baburao Jedhe
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(8) wgfrned fafta Fetewn ffire arfle = vm (% a%) +d. TrqGheafale Samhke a1 T
Wﬁm%@m%mmmﬁm I WA A § ATER IACEUET AEAA
Tt e Em g fomer TRy FaeEaes Afufam-82’ afie agdgEn A
FIE AEA 9 Sl =l FAE TH U ST A0/ AT 99 U BN H= dere e
1R gen.

(9) TR yUFFEE A fafdd Fodf 4o HveaEE IeETE § YEYfRE WA st

U IE wEEft R, W sferrerani Soamei SEgaRe HaedT ST W1
RS 7 Rrarn wa s smavaE .

q. 3. 201,

T. %. 201.

aTgen reet
it 91 T FEEd Hivl g@a: e S ?
(1 @l e T (2) <Yty fremErR
(3) TS THAIES U (4) TIITSFT TES
T TEE I I (E) TE TR UE SR Y. S W YR TR 3) sﬁa
T GIElAgET 9 %, 201 FOS Fwas @) ¥ ade i ok s
TR FERH L.

@ @ @& O

mmwmmwwmmmwmﬁmm
SRR 1 1 TTHEHHEHE iy ade [N SRifeT Se rEaEn. geniat
e HTEAT WIS "TedT g, e ar ae i auE Q.
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